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1. Label the following objects with their fulcrum, effort, and load, and
then indicate whether it's a first, second, or third class lever. (6 marks)
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2. Youuse 40 N of force to move a box 150 cm. How muc@id you
do? (2 marks) W= Fxd
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3. It takes 400 N of force exerted on the handle of a jack in order to
lift the car. It takes 15 500 force from the jack to lift the car.

What is the ¢fiechanical advantage? Is it a speed advantage or a
force advantage? (3 marks)
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4. Describe a situation in which a person exerts a force yet no work is
done. (1 mark) |
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9. If using a 1*' class lever to move an object with a mass of 2000 kg. 4 4 \/‘._m-aajz
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5. Calculate T@ne to pull a sled 15 m with a force of 300 N,
(2 marks) wz=F XO(
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6. List 6 simple machines. (3 marks)
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7. If a lever has a@qical adva@_@of 0.45, and you want to lift a

load of 700 N, how much effort force would be required? (2 marks)
FE: ? F—E: Fo F_E:1555.§/U
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8. You are pushing a box up a ramp. You need to get the box 480cm of

the ground. In order for you to be able to do this the ramp has to be

at least 12M in length. What is the@peed ratiowof the ramp?
"
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What could you do to decrease the amount of effort force (or to guextion
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increase thednechanical advanfage)\that needs to be applied to the a5 {m :%Q": Krest .
lever? (1 mark) Llevum clo fen il ;
&= INereas
Mownng The o Peed. A

@OOOB 7\ Mo load Wil male

/(zasl'cy” +O I(!*‘; m "\€.cb\dlfl"c:‘¢._,0
(,lalvaﬂ"'c-.-::.;, ) hf'\-j]“*' ancl /fSS

efor + *}grcé’ 1S requ [res _ ;
I will Mok

*Arck;m&a@o gmd.' ﬁ;‘/e e a [ever /on\a\enauqf) and Ao &0 dh



)46 (ON

10. If moving the object with a mass of 2000 kg with a second class lever,

what would Th@aﬂucdf‘ﬁm@be if the effort for‘ce needed
To oW was 6N? (1 mark) MA = 3333 %
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11. If you are using a lever to lift a car and there is mf 2.5 4
and the car is raised 50 cm, how far does the effort arm of the lever
move? (2 marg s s SR x Aot
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12. What is the @if 675 N of force is required to lift
a load of 5000 N? (2 marks)
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# 13.You are using a pulley to lift an airplane engine we|ghmgi800kg 9
oA ff the ground. You need to pull the rope a distance of
0000: | .,.-=| |Th a force of@o reach the desired height. What
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14. Car breaks use a simple hydraulic system to create friction and slow a
vehicle's wheels down. When you push on the break with your foot you
are applymg a force of 64N. The area of the break pedal piston is
4cm?. The output piston which pushes the break pads against the tires
has a surface area of 72cm?. What is the force that is applled to the
bre-&k—pads by the hydraulic system? What is the mechamcal )

("' advanTage, given by a hydraulic breaking system? (10 marks)

** Use this to help you P= F/A = Fin/Ain = Fout/Aout = P **



